g Al A

A
=

Ol &b A

Al

20218 & 20

© ) ) o oo o o |o o |o
@® ISo] ™ ® | ® = @ ® | ® S | S
@ o 2 AN B Rt MR A @
< © N N o |- |o o — | = < | <
n0 = o s} 0 |wo |
Ko | @ a4 |«
E|
=)
0 o o o |lo |o o o |o o |o
< = = S S S I | S | S
2 ) ) 0|5 |D %) D | D o |©B
N — — © | o |o 0 o |o
3 3 © © g N
ol .
ma |
RIS
— — O W) W0 0 O w 0N O w Yo o o o o o o o] N o o o o o o o o () (e} o (@) () o o o o
mn OSSN oso|loso|(o|IR|I= = &6 &85 &8 F = o S S S S S A ©® &5 © | o | S © | S | S
TN QAN QU QIO N IO © ¥ © §F v © © - < < < 0 < QN Q@ N X @ © N | X |[x
— oA NO|Y oY og|a [N |o N o0 — — o) ) N o o <+ ~ o o | NN <> S RS I
ANOODLON|— o= |0 | K |IR - - &
N o RIS B - -
ar © — ™
<
=3
mr W mr mr
< =S W W o o} T I+ oy ol ol ol T ofl ol
sxgEof 2Ll g ¥ oPE & T8 o8
o PP T @ w S¥*t® = W HH g5 ¥ = )
= = = * o O — X o * o o0 o D o N — <
30 7 T T A IR S = S = 3 ¥ S — * X
o o o ] S O — [} - [0 - * -~ R 3 — =r
S &5 &5 o - - M o o o o oo &0 o o oF od
BJ S &5 38 & o — oS 3 S S S H S O S M S O
5 P S s < < < © 8 < * e 8 S K©
8 8 3 < <o o ) S o of RS o™~
D o = — (Y o - o ®
© o S o S ®©
= _ N = 5] 53 1)
”=_l ol 00 3l © —~ —
— t <+ 3 3
=z = o 1 {0 K0 K0
- 00 & £ 5 7R
= Il fn < o< KF KF
ol K 0 T T oo
o) -
~ ulo — oF R [ [
i o Mr ur R0 o ol < oF)
Qg U ulo KA 30 ™ El = ol
- O A ol ol or 0 oy <0 = o w0 | noo{no
Rl H 0 o K- Kk al M a - |T |5 a) W2
RO o1 KA %0 < O O O O O |3 M O O | H |H
. Bl R0 0 — o] o | = ™ | =
= i © o o o |o S o
X RO o) oM N &
i 0 oF ol
orJ o)
ol




2A: DA SAD
MY QABFHMOIEQ
el DlIASATY D
SA-E B (3H) - MBAY - BES ﬁlf& HDS2
OESRA ZEA 100,000 12 x4 3| 4,800
305 HiAa=2S 600 600 0
01 i3S 600 600 0
OHA=LOIABAZ 50,000& x12& 600
308 AXISHXSOoIH 10,975 ,850 9,125
11 BI|2SHUsHEAAAE A H| 10,975 ,850 9,125
OXNHMUFUSETIBAALY 2H
10,975,000& * 14! 10,975
AR H&8AEY K& 10,000 ,000 A 2,000
= 10,000
201 Bt A H| 10,000 ,000 0
= 10,000
01 AP 2t2ld] 10,000 ,000 0
O & A2 10,000,000& » 14! 10,000
= 10,000
R N | 2,500 ,000 A 500
203 &R =&H| 2,500 ,000 A 500
03 A =X R =XH| 2,500 ,000 A 500
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101 2121 d| 17,847 ,890 N 3,043
= 17,847
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OIIFHHEE 212AH| 17,847,000 1Al 17,847
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OMESAXIN L E2HFL HEFA
20,000 «2H »53| «12& 2,400
HE B ALKt 76,384 79,957 N 3,573
= 43,233
i 33,151
101 124 dl 12,652 11,915 737
= 12,652
04 JI12ZtHNZ 2 EE 12,652 11,915 737
OMESAKX I EXFE
75,7603 x1H x167 12,652
= 12,652
201 Let2dE] 63,732 65,042 A1,310
= 30,581
s 33,151
01 At 22l 63,202 64,954 A1,752
OMESAIRXNIN BE=2 4213 %150, 1232 X 63,202
= 30,051
s 33,151
02 =24l 530 88 442
OMNESAIRXNI SXNE SI=RE
2,500 *x212% 530
= 530
C2YH Y ASHS 2HAY 246,205 171,139 75,066
= 49,820
[ia 196,385
E2EFAAY 246,205 171,139 75,066
< 49,820
s 196,385
201 Let24d] 23,750 23,510 240
01 At 22l 22,490 22,490 0
OS2YZELSRAS FA 4+g
70,000 12 13| 840
OXNgeds &8 =& 70,0003 x5H *13 350
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OEZ2HZFEA CHHANAE =S LHZAL
20,000,000 x 14! 20,000
02 2224 4| 1,260 1,020 240
OE2HFA I8 SIOIRE 2,200 *3000H 660
OEZHEZFA HEXAIE S| ENRS
50,000 12 600
308 MXISHMSOIA 3,919 3,919 0
11 BI2SHUSEANE AIS Y 3,919 3,919 0
OER2RE=A JI28 XS
3,919,000 =14l 3,919
401 AlEHIZL 2 0HY| 108,063 127,500 N 19,437
= 21,920
= 86,143
01 Al& H| 108,063 127,500 N 19,437
OEZHEZFA Ot A= X £ SXNES
100,000 « 10004 2~ 10,000
O2IINEHS T XA 288,460 x80& 23,077
= 6,923
= 16,154
OER2HZ=A CHHAIEZ &= ALY
160, 020& 253l 40,486
= 8,097
= 32,389
OE=ZYH QtUAIEE SA2e AIE
2,300& 15,0004 34,500
= 6,900
= 27,600
403 XX SHHS K20 & 110,473 16,210 94,263
& 27,900
= 82,573
02 BI2SHUSXAN=2EAEAISHI 110,473 16,210 94,263
OE2HFA FEANAY 2HXH L GISAH A
SN2 17,473,000 = 1Al 17,473
OJIz=dd P S2UAHEE 25 ALY
93,000, 000& = 14! 93,000
= 27,900
= 65,100
NEHH 2,117,622 1,418,429 699, 193
= 822,372
= 20,165
= 1,275,085
22 ERE L 2 668,642 232,000 436,642
= 379,000
o= 10,853
= 278,789
KNotAIASE At X 632,465 232,000 400,465
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SA BB (3H) - NRAY - B Ol At o %E& HRE2
OE8XIXY X8 SIIRE
6,000,000 x14! 6,000
202 04| 11,640 8,640 3,000
01 2L I 11,640 8,640 3,000
OXNE =X (ENH) 130,000 x4 12 6,240
O Z2AH LY 20HXE)I=H _._/\F
20,000 2H x53| x12& 2,400
OSEXXY =& | 20,000& *3H 50 3,000
403 XX SHHMS X201 & 126,135 71,100 55,035
02 2| 2SO UeHA =& E A HI 126,135 71,100 55,035
O=I=F ST A L HE(Z2H21=F,X
MI)=H) 126,135
—SEXIAN(XNEI=SH) 70,768,000 14! 70,768
—SEXIAN(2IIIEH) 35,347,000& = 14! 35,347
—ME(N=EE2H) 100, 100 »200& 20,020
INESEE I 9,141 4,327 4,814
= 9,141
101 @124 H] 9,141 4,327 4,814
2 9,141
04 JI2ZtHIZ2 2 NEES 9,141 4,327 4,814
OXE2Z 22X ool
75,760& 1 *120.65L 9,141
= 9,141
X &= THZEAAIES 1,166,558 991,204 175,354
2 434,231
== 9,312
= 723,015
K ETHEAAY =&(IAN) 701,287 616,354 84,933
201 et d| 74,631 106, 154 N 31,523
01 AP 2t 2| H| 68,327 100, 104 N3, 777
OZAEEI £22(2N2K 2, 2012K 7,2 2K
2ONEXFR) 40,0003 x 1,843 X| *35% 25,802
O2021E9 & X ETHEZA AL X T =22 (D]
== NPRHA=SSH S) 18,205
18,205,000 « 1Al
OXNEMMEAAIE X 7 XSS HU| (2 A2
2, 202K 2,2 X7, MHEXF)
20,000,000& = 14! 20,000
OXNETHEA SH (ZH)
8,000 x5H 9 x12& 4,320
02 332%H| 6,304 6,050 254
OXNEMEAI S22 2HIZANAE 29 2 EX
2 2E2 6,304,000 =14l 6,304
202 044l 10,200 10,200 0
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 = LH 4 bl 10,200 10,200 0
OXNETWE=AM S (ZHE)
20,0003 *4H x53| «6F 2,400
O ENEIVR-EES1E 1)
130,000 5 «12& 7,800
301 LEHZ 600,000 500,000 100,000
12JEEd=S 600,000 500,000 100,000
OXEMEAMAMY =HZB NS (242K, 236t2
XN+, 22X+, HEZXF) 600,000,000 14! 600,000
405 XHoHF S HI 16,456 0 16,456
01 et EZFH S 16,456 0 16,456
OXNEMEAL & 43 AN 4 7
16,456 ,000& *1set 16,456
KN ETHEALALY =& 434,231 333,000 101,231
= 434,231
201 Let24d] 434,231 333,000 101,231
= 434,231
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OXNHHEAMGE SSUHE =2
413,745,000& » 14! 413,745
= 413,745
OXETHEALALE 22| 20,486,000 = 14! 20,486
= 20,486
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< 9,312
s 21,728
201 L4l 31,040 41,850 A 10,810
S 9,312
s 21,728
01 At 22l 31,040 41,850 210,810
OXNHIEE NASXH SUdE S8
s 31,040,000 =14 31,040
< 9,312
e 21,728
FHSZ A 3,274,973 3,173,077 101,896
= 1,085,307
< 356,121
[ia 1,833,545
MBIF=0otH 3,216,743 3,140,239 76,504
= 1,085,307
< 356,121
s 1,775,315
OrE2sl2 52 AtY 771,216 881,928 A 110,712
401 AIEHI L 2 0] 631,216 521,928 109,288
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Oltssl2 2= 566,000
—&oh LeH4s 40,000,000& =14 40,000
— &ot SA2S 12,000, 0002 14! 12,000
—&ot e = 12,000, 0003 *14] 12,000
— XoF LHAF 20,000,000& » 14! 20,000
— &lot QA 18,000, 000& * 14 18,000
— &lok ATk 27,000,000 =14 27,000
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